Review Questions for Respiratory & Digestive Exam:

1. Which of the following is a passageway for both air and food? 
A. trachea
B. larynx
C. pharynx
D. bronchus
E. esophagus

2. Which of the following laryngeal cartilages are paired? 
(1) epiglottis
(2) thyroid cartilage
(3) corniculate cartilage
(4) arytenoid cartilage
(5) cuneiform cartilage
(6) cricoid cartilage 
A. 1, 2, 6
B. 3, 5, 6
C. 2, 4, 5
D. 3, 4, 5
E. 2, 3, 4

3. A person has severe damage or disease in the upper area of their right lung. Surgery is necessary. The doctor would need to remove 
A. the entire right lung.
B. the superior lobe of the right lung.
C. the bronchopulmonary segment located in that area of the right lung.
D. only the damaged area of the bronchopulmonary segment.
E. the apical, anterior, and posterior segments of the superior lobe.

4. Which of the following statements is true? 
A. As thoracic volume increases, alveolar pressure (Palv) increases.
B. In expiration, the thoracic volume increases.
C. Constriction of bronchioles assists breathing.
D. As alveolar volume increases, alveolar pressure (Palv) decreases.
E. Pressure is directly proportional to volume.

5. During inspiration, contraction of the diaphragm causes the volume of Mr. Jones' thoracic cavity to increase and the pleural pressure to decrease. The pressure in his alveoli (Palv) will 
A. decrease below atmospheric pressure (PB), causing air to move out of his lungs.
B. become greater than atmospheric pressure (PB), causing air to move into his lungs.
C. decrease below atmospheric pressure (PB), causing air to move into his lungs.
D. become greater than atmospheric pressure (PB), causing air to move out of his lungs.
E. does not change.

6. Inability of the pyloric sphincter to open would prevent 
A. food from entering the stomach.
B. stomach acid from being released.
C. digestive enzymes from being released.
D. food from entering the small intestine.
E. the making of chyme.

7. The formation of HCl in the stomach involves the 
A. active transport of hydrogen ions from parietal cells into the lumen of the stomach.
B. exchange of sodium ions for hydrogen ions in the transport process.
C. active transport of chloride ions from parietal cells into the lumen of the stomach.
D. exchange of sodium and bicarbonate ions.
E. the combination of carbon dioxide and water.

8. The intestinal phase of gastric secretion 
A. is controlled by the entrance of acidic chyme into the duodenum.
B. leads to increased gastric secretion if duodenal pH falls below 2.
C. only stimulates gastric secretion.
D. will decrease gastric secretion when gastrin is released by the duodenum.
E. is controlled by the entrance of alkaline material into the small intestines.

9. Which of the following would stimulate gastric secretion? 
A. acidic chyme in duodenum
B. secretin
C. gastrin
D. cholecystokinin
E. pepsin

10. Arrange the ducts in the order that bile would pass through them when moving from the bile canaliculi to the small intestine without being stored in the gallbladder. 
(1) common bile duct
(2) common hepatic duct
(3) cystic duct
(4) left and right hepatic ducts 
A. 3, 4, 2
B. 3, 2, 1
C. 4, 2, 1
D. 4, 1, 2
E. 1, 4, 2
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